
Math 102 Exam #1 Key (Spring 2012)

1a. 2,328,240
1b. 2,478
1c. 305,644
1d. 392
1e. 804,235
1f. (1× 602) + (3× 60) + 22 = 3, 802
1g. (7× 60) + 9 = 429
1h. 6,907
1i. 3,040
1j. (12× 360) + (0× 20) + 7 = 4, 327
1k. (6× 7200) + (1× 360) + 19 = 43, 579
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3a. (3× 62) + (2× 6) + 5 = 125

3b. 29 + 26 + 25 + 22 + 2 = 614

3c. (7× 123) + (11× 122) + (2× 12) = 13, 704

4a. 295 = (2× 53) + (1× 52) + (4× 5) = 21405

4b. 320 = (1×35)+(2×33)+(2×32)+(1×3)+2 =
1022123

4c. 5, 887 = (1×163)+(6×162)+(15×16)+15 =
16FF16

5a. 13516

5b. D91C16

5c. 403212 − 95212 = 32A012

5d. 4738 × 728 = 11668 + 423508 = 435368

5e. 51B16 × 1A16 = 330E16 + 51B016 = 84BE16

6a. Quotient is 435, with no remainder:
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